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Marking Instructions

Please note that these marking instructions have not been standardised based on candidate
responses. You may therefore need to agree within your centre how to consistently mark an item
if a candidate response is not covered by the marking instructions.
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Marking instructions for each question
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Marking Instructions

Please note that these marking instructions have not been standardised based on candidate
responses. You may therefore need to agree within your centre how to consistently mark an item
if a candidate response is not covered by the marking instructions.
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General marking principles for Higher Chemistry

Always apply these general principles. Use them in conjunction with the detailed marking
instructions, which identify the key features required in candidates’ responses.

@)

(b)

(c)
(d)

(e)

(f)

()

(h)

(i)

§))

(k)

(1)

Always use positive marking. This means candidates accumulate marks for the
demonstration of relevant skills, knowledge and understanding; marks are not deducted for
errors or omissions.

If a candidate response does not seem to be covered by either the principles or detailed
marking instructions, and you are uncertain how to assess it, you must seek guidance from
your team leader.

Do not award half marks.

Where a candidate makes an error at an early stage in a multi-stage calculation, award
marks for correct follow-on working in subsequent stages, unless the error significantly
reduces the complexity of the remaining stages. Apply the same principle for questions
that require several stages of non-mathematical reasoning. The exception to this rule is
where the marking instructions for a numerical question assign separate ‘concept marks’
and an ‘arithmetic mark’. In such situations, the marking instructions will give clear
guidance on the assignment or partial marks.

Unless a nhumerical question specifically requires evidence of working to be shown, award
full marks for a correct final response (including units) on its own.

Candidates may fully access larger mark allocations whether their responses are in
continuous prose, linked statements, or a series of developed bullet points.

Do not deduct marks for inaccurate or unconventional spelling or vocabulary as long as the
meaning of the word(s) is conveyed. For example, responses that include ‘distilling’ for
‘distillation’, or ‘it gets hotter’ for ‘the temperature rises’, are acceptable.

In many questions, the unit in which the answer is to be expressed is given. In these
questions, the candidate does not need to state a unit in their answer; but if they do, the
unit must be correct. The full mark allocation cannot be awarded if an incorrect unit is
shown. In these questions, incorrect units would only be penalised once in any paper.

If a correct response is followed by a wrong response, award no marks. For example in
response to the question, ‘State the colour seen when blue Fehling’s solution is warmed
with an aldehyde’, do not award marks for the response ‘red green’. However, if a correct
response is followed by additional information which does not conflict with that, ignore
the additional information, whether correct or not. For example in response to a question
concerned with melting point, ‘State why the tube should not be made of copper’, the
response ‘Copper has a low melting point and is coloured grey’ would gain marks.

Award full marks for the correct response to a calculation without working. Award partial
marks, as shown in the detailed marking instructions, when working is given but the final
response is incorrect. An exception is when candidates are asked to ‘Find, by calculation’ -
do not award full marks for the correct response without working.

Ignore the omission of one H atom from a full structural formula provided the bond is
shown.

Award marks for a symbol or correct formula in place of a name unless stated otherwise
in the detailed marking instructions.
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(m) When formulae of ionic compounds are given as responses, candidates only need to show

(n)

(0)

(P)

ion charges if these have been specifically asked for. However, if ion charges are shown,
they must be correct. If incorrect charges are shown, do not award marks.

If an answer comes directly from the text of the question, do not award marks. For
example, in response to the question, ‘A student found that 0-05 mol of propane, C3Hs
burned to give 82-4 kJ of energy. CsHg(g) + 502(g) = 3CO2(g) + 4H,0(£). Name the kind of
enthalpy change that the student measured’, do not award marks for ‘burning’ since the
word ‘burned’ appears in the text.

A guiding principle in marking is to give credit for correct elements of a response rather
than to look for reasons not to give marks.

Example 1: The structure of a hydrocarbon found in petrol is shown below.

CH;

CH3—CH,—CH—CH,—CH,—CHs

Name the hydrocarbon
e Award the full mark for ‘3, methyl-hexane’, although the punctuation is not correct.

Example 2: A student measured the pH of four carboxylic acids to find out how their
strength is related to the number of chlorine atoms in the molecule. The results are
shown.

CH;COOH 1-65
CH,CICOOH 1-27
CHCL,COOH 0-90
CCL;,COOH 0-51

Describe the relationship between the number of chlorine atoms in the molecule and the

strengths of the acids.

e Award the full mark for a response such as ‘the more Cl,, the stronger the acid’,
although not completely correct.

Unless the question is clearly about a non-chemistry issue, for example costs in an
industrial chemical process, do not award marks for a non-chemical response.

For example, in response to the question, ‘Why does the (catalytic) converter have a
honeycomb structure?’, do not award a mark for ‘To make it work’. This response may be
correct but it is not a chemical response.
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(o))

Only award marks for a valid response to the question asked. Where candidates are asked

to:

identify, name, give or state, they must only name or present in brief form.
describe, they must provide a statement or structure of characteristics and/or
features.

explain, they must relate cause and effect and/or make relationships between things
clear.

compare, they must demonstrate knowledge and understanding of the similarities
and/or differences between things.

complete, they must finish a chemical equation or fill in a table with information.
determine or calculate, they must determine a number from given facts, figures or
information.

draw, they must draw a diagram or structural formula, for example ‘Draw a diagram to
show the part of a poly(propene) molecule formed from two propene molecules.’
estimate, they must determine an approximate value for something.

predict, they must suggest what may happen based on available information.
evaluate, they must make a judgement based on criteria.

suggest, they must apply their knowledge and understanding of chemistry to a new
situation. A number of responses are acceptable: award marks for any suggestions that
are supported by knowledge and understanding of chemistry.

use their knowledge of chemistry or aspect of chemistry to comment on, they must
apply their skills, knowledge and understanding to respond appropriately to the
problem/situation presented (for example by making a statement of principle(s)
involved and/or a relationship or equation, and applying these to respond to the
problem/situation). Candidates gain marks for the breadth and/or depth of their
conceptual understanding.

write, they must complete a chemical or word equation, for example ‘Write the word

equation for the complete combustion of ethanol.’
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Marking instructions for each question

Question Expected response nT:er Additional guidance
1. | (@) | (i) |Increases (across period) 1
(i) | They don’t form (covalent) bonds 1 Accept: They (noble gases) are
unreactive.
They are noble gases is not
acceptable.
(iii) | Screening increases so less 1 Shielding is acceptable in place of
attraction (of nucleus/protons for screening.
the bonding/outer/shared electrons)
‘Screening/shielding effect’ by itself
OR is not acceptable.
Covalent radius/atomic size/number Information in brackets is not
of shells increases so less attraction required but if included, the
(of nucleus/protons for the direction of attraction must be
bonding/outer/shared electrons) correct.
(b) | () [2-8+0-05 1
(i) | Cross at (2-1, 1-8) on graph 2 A point other than (2-1, 1-8) plotted
2 marks with no calculated values is worth 0
marks.
Partial mark
For calculation of both average
electronegativity (2-1) and
difference (1-8) (1 mark)
OR
For correctly plotting the point for
the values candidate has calculated
(1 mark)
(i) | (Li*)2S* 1
A
Both charges must be shown.
Brackets are required for Li*.
B Carbon fluorine 1 Accept correct symbols.
Sulfur fluorine
Boron oxygen If candidate states name of a
compound then it must be correct.
Accept germanium and oxygen.
(c) Polar (covalent) 1
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Question

Expected response

Max

Additional guidance

A partial mark can be awarded for
any one of the following:

Correct use of atom economy
relationship without correct use of
stoichiometry (working must be
shown). (1 mark)

OR

Correct working with no correct final
answer. (1 mark)

mark
(@) | (i) |Graphite 1
(i1) 2 Mention of molecular would cancel
the mark for covalent bonds for
diamond.
Accept LDFs for London dispersion
forces.
Treat each mark separately.
Form of Strongest attraction broken
carbon
Diamond covalent (network) bond(s) (1 mark)
fullerene London dispersion forces (1 mark)
(ifi) |12 1
(b) 45-81/45-8/46(%) (2 marks) 2 No units required. Only 1 mark can

be awarded for the correct answer if
wrong unit is given. (Wrong units
would only be penalised once in any
paper).
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Question

Expected response

Max
mark

Additional guidance

(©)

+250 kJ mol' (2 marks)
Partial marks

Treat as two concepts. Either would
be acceptable for 1 mark.

Evidence of understanding of
reversal of first and second enthalpy
values must be seen ie +283 and
+286 (or positive multiples of
either/both).

The third enthalpy value (regardless
of value) must be negative, or this
partial mark cannot be awarded.

OR

Evidence of understanding of
multiplying the second enthalpy
value by 3

(shown as 3 x +/-286 or +/- 858)

Multiplication of any other enthalpy
value by any factor is taken as
cancelling of this partial mark.

If correct answer is shown, award 2
marks.

Only 1 concept mark can be
awarded if the final answer is
incorrect.

If answer given is -250, maximum of
1 mark can be awarded.

No units required. Only 1 mark can
be awarded for the correct answer if
wrong unit is given. (Wrong units
would only be penalised once in any
paper).

kJ is acceptable in place of kJ mol™’
(KJ or Kj or KJ mol" or Kj mol"’
accepted).
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Question

Expected response

Max
mark

Additional guidance

Award 1 mark where the candidate
has demonstrated, at an appropriate
level, a limited understanding of the
chemistry involved. They have made
some statement(s) which are
relevant to the situation, showing
that they have understood at least a
little of the chemistry within the
problem.

Award 2 marks where the candidate
has demonstrated, at an appropriate
level, a reasonable understanding of
the chemistry involved. They make
some statement(s) which are
relevant to the situation, showing
that they have understood the
problem.

Award 3 marks where the candidate
has demonstrated, at an appropriate
level, a good understanding of the
chemistry involved. They show a
good comprehension of the
chemistry of the situation and
provide a logically correct answer to
the question posed. This type of
response might include a statement
of the principles involved, a
relationship or an equation, and the
application of these to respond to
the problem. The answer does not
need to be ‘excellent’ or ‘complete’
for the candidate to gain full marks.

Award 0 marks where the candidate
has not demonstrated, at an
appropriate level, an understanding
of the chemistry involved. There is
no evidence that they have
recognised the area of chemistry
involved, or they have not given any
statement of a relevant chemistry
principle. Award this mark also if the
candidate merely restates the
chemistry given in the question.

Zero marks should be awarded if:

The student has demonstrated, at an
appropriate level, no understanding,
of the chemistry involved. There is
no evidence that the student has
recognised the area of chemistry
involved or has given any statement
of a relevant chemistry principle.
This mark would also be given when
the student merely restates the
chemistry given in the question.
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Question

Expected response

Max

Additional guidance

for removing carbon dioxide - must
include label for KOH (solution)
(1 mark)

Diagram shows a workable method

for passing gas over heated copper -

must include label for heated copper
(1 mark)

mark
(a) Bond enthalpy is high (945)/has the 1 (Bond(s)) take(s) a lot of energy to
highest bond enthalpy value (in the break/are very strong would not be
data booklet) accepted on its own but would not
be cancelling.
(b) Diagram shows a workable method 2 Treat each mark separately.
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Question

Expected response

Max
mark

Additional guidance

(c)

(i)

2 marks for correct calculations
AND 1 mark for a statement which
follows on from the calculation
stating that nitrogen is in excess or
that lithium is the limiting reactant.

Partial marks
By calculating number of moles:

1 mark for the correct calculation
of number of moles of Li and Ns.

1 mark for correct application of
the mole ratio. This can be shown
by dividing a calculated number of
moles of Li by 6 or multiplying a
number of moles of N; by 6.

1 mark awarded for a correct
statement following on from the
candidate’s calculations.

OR

By proportion:

1 mark for 41-4 g —» 24 litres

1 mark for follow through from
incorrect multiples of 6-9g or 24 |

1 mark awarded for a correct
statement following on from the
candidate’s calculations.

Correct calculation of moles of
lithium = 0-07/0-072/0-0725 moles
and

nitrogen = 0-04/0-038/0-0375 moles

The values in the tables shown
provide guidance as to whether 1
mark or 2 marks for calculations
should be awarded.

2 marks can be awarded for any one
of the following paired values in the
table obtained by applying the mole
ratio

have need
0-5¢glLi 0:29 LN,
091N, 1-55 g Li
0:9 LN, 0:29 L N,
0-5¢glLi 1-55 g Li
0-0725 mol Li 0-225 mol Li
0-0375 mol N2 | 0:012 mol N;

1 mark can be awarded for any one
of the following paired values in the
table obtained without applying mole
ratio

have need

0-5¢glLi 1-74 LN,
0:9 LN 0-26 g Li
0:9 LN, 1-74 L Ny
0-5¢glLi 0-26 g Li

This mark can only be awarded if the
candidate shows appropriate
calculations to justify the statement.
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Question

Expected response

Max

Additional guidance

mark
(c) | (ii)) |[Cu*(aq) + e — Cu(s) 1 State symbols not required but if
given must be correct. Accept
electron without a negative sign.
(iii) | (ionic) lattice/network 1 Covalent network is not acceptable
(d) | (i) |atoms/molecules with an unpaired 1
electron
(ii) | 676 (kJ mol") 2 No units are required but award only
1 mark for correct answer if
-676 would be worth 1 mark incorrect unit is given.
(Wrong units would only be
Partial marking, 1 mark can be penalised once in any paper).
awarded for
kJ is acceptable in place of kJ mol"!
candidate correctly retrieves both of (KJ or Kj or KJ mol" or Kj mol
the relevant bond enthalpy data accepted)
(945, 498) and attempts to use this
with 91
OR
calculation carried out correctly
with one error in retrieval of bond
enthalpy
(iii) | termination 1
A
B H—O0—N=0 1
or
0—o0
\ /
H—N
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Question

Expected response

Max
mark

Additional guidance

(e)

(i)

Decreasing temperature favours the
exothermic reaction/increasing
temperature favours endothermic
reactions (1 mark)

Increases the yield of ammonia
(1mark)

C3H5N309 —>
3C02 + 21/2H20 + 11/2N2 + Y4 Oz
OR

correct multiples

The shock/bump provides the
activation energy/Ea

OR

the shock/bump provides
sufficient/enough energy to start
the reaction

OR

the reaction has a low activation
energy/Ea

If candidate uses “it” in response,
this can be taken as “the
shock/bump”.
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Question

Expected response

Max

Additional guidance

Partial marks

1 mark for a demonstration of the
correct use of the relationship
Eh=cmAT as shown by (4:18 x (an
order of magnitude of 0-775) x 11-9)
(ignore units for this partial mark)

1 mark for evidence of the
knowledge that enthalpy of
combustion relates to 1 mole,
evidenced by the scaling up of a
calculated value of energy released.

1 mark for correct arithmetic. This
mark should be awarded if the
candidate has obtained the 2 partial
marks above but has applied correct
early rounding within the calculation
resulting in an answer that differs
from -34 078).

mark
(a) 1 mark for any correct feature and 1
explanation as shown:
e (Contains oxygen to ensure
complete combustion
e Sample is surrounded by water so
all energy transferred/reduce
heat loss to surroundings
e Sealed container prevents/
reduces heat loss to the
surroundings
e Stirring to ensure accurate
temperature (measurement)
(b) | (i) |-34078 (kJmol™) 3 Maximum of 2 marks can be awarded

if negative enthalpy sign is not
shown in final answer.

Units not required. Only 2 marks
can be awarded for the correct
answer if wrong unit is given.

(wrong units would only be penalised
once in any paper).

kJ is acceptable in place of kJ mol
(KJ or Kj or KJ mol' or Kj mol"*
accepted).

0-71/0.713/0.7125

(©)

23-3

Ignore any units

Glycerol has 3 hydroxyl groups.

Accept glycerol is propan(e)-1,2,3-
triol/an alcohol with 3 hydroxyl (-
OH) groups
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Question

Expected response

Max

Additional guidance

mark
(a) 2 As no unit is specified, the correct
Mass (1 mark) | Unit (1 mark) answer can be expressed with any
0-00113 kg appropriate unit (as shown in table).
1-13 g Any correct rounding accepted e.g.
1130 mg 1-1278/1-128/1-13 g
Any correct line in the table (2
marks) Partial mark for appropriate units
can only be awarded when the order
Correctly calculated mass of iodine of magnitude of an incorrectly
without units (1) calculated mass matches the unit.
Appropriate units (1) If the candidate’s working is unclear
then the mark for units cannot be
awarded.
(b) | (i) |Measuring the mass of container + 1 Taring the balance with container
seaweed/sample and subtracting the and then adding the seaweed/
mass of the container sample is accepted
“use of Tare function” on its own is
not accepted.
(ii) | I"/iodide (ions) 1
(iii) | A solution of accurately/exactly/ 1
precisely known concentration
(iv) | 0-00013 (moles) 1 Units not required, but if present,
A must be correct. Wrong units are
only penalised once per paper.
B 0-03299g/0-033 g/0-03 (g) 1 To award this mark, the candidates
answer to part B must be correct for
their use of their answer to part A
(i.e. answer to part A x 253-8).
Units not required, but if present,
must be correct. Wrong units are
only penalised once per paper.
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Question

Expected response

Max
mark

Additional guidance

() | ()

Amino acid that must be
acquired/obtained from the diet.

Amino acid that cannot be made by
the body is accepted.

Correctly drawn structure for
dipeptide.

H O H
" |l | °
V
>N—(|Z—C— | —(|:—c<
H THZ H THZ OH
(|:H2 C3N2H3
S
|
CH,
OR
H O H
" |l | 0
V
>N—(|Z—C— | —(|:—c<
H THZ H THZ OH
C3N2H3 (l:'HZ
S
|
CH,

Shortened structural formula
accepted.

All atoms and bonds must be present
as shown. However, in the side
chains only, bonds drawn from C (or
S) to H (or N) would not be
penalised.
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Question

Expected response

Max
mark

Additional guidance

7.

(@)

1 mark for:

1 mark for:

sulfur dioxide
+ oxygen

reactor
with catalyst

sulfur dioxide

sulfur trioxide

A

1 mark for correct top half
(4 responses) and 1 mark
for correct bottom half (4
responses).

Accept correct chemical
formula in place of names.

Accept “air” for “excess
air”.
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Question

Expected response

Max

Additional guidance

forces of attraction between
temporary dipoles (and induced
dipoles)

1 mark for an explanation of the
cause of temporary dipoles in terms
of uneven distribution of electrons/
electron wobble/movement of
electrons in the molecule

mark
(b) Require heat to be removed (to 1
prevent the temperature from
rising).
(c) | (i) |1 mark for description of LDFs as 2 Attraction involving permanent

dipoles cancels this mark

described.

Head Tail
Hydrophilic Hydrophobic
Polar Non-polar
lonic Non-polar
Water soluble Fat soluble

Any term to describe the head from
the table can be used with any term
from the table to describe the tail.

(i) |1 mark 2
Sulfur/S has more electrons than
oxygen/O
1 mark
These forces are stronger due to The structure of Sg and O, must be
sulfur structure being Ss whereas evidenced in answer (molecular
oxygen is Oz formula, structural formula) for the
second mark to be awarded.
Correctly calculated number of
electrons (16, 128) would also be
evidence of structure.
(d) 1
Effect of Effect of
catalyst on catalyst on
enthalpy activation
change energy
Increase increase
stay the same
decrease
() [() |Do not form scum. 1
(ii) | Both parts of molecule must be 1 If answer mentions head and/or tail,

then it must be correct ie head is
hydrophilic.
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Question

Expected response

Max

Additional guidance

Partial marks

1 mark can be awarded for:

cost per mg of vanillin = £0-00105
OR

cost per g of vanillin = £1-05

OR

cost of 0-184 g of vanillin = £0-1932
OR

mass of vanillin needed = 0-0092 g

mark
(@) | (i) | pentyl ethanoate 1
(i) | condensation/esterification 1
(b) | (i) |Carbon dioxide is (relatively) 1
insoluble/has very low solubility
(ii) |0-029 (g) 2 marks 2 Units not required, but if present,
must be correct. Wrong units are
Partial marks only penalised once per paper.
Correctly calculated number of Allow follow through from incorrect
moles of carbon dioxide divided by 3 application of mole ratio or correct
to give number of moles of citric mole ratio applied to incorrectly
acid calculated number of moles of CO,
e.g. moles of citric acid = 0-00076 (1
mark)
Calculated number of moles of citric
acid x 192 divided by 5 (1 mark)
OR
by proportion
192 g - 72 1 (1 mark)
0-147¢g — 0-0551
0-147/5 = 0-029 (g) (1 mark)
Allow follow through from incorrect
multiple of 24 |
(c) | (i) |orange to green/blue-green/ 1
A blue
Tollens’ reagent 1 Benedict’s/ Schiff’s reagent would
OR be accepted.
Fehling’s solution
(i) |2 1
(iii) | 1 pence/ £0-01 (2 marks) 2 Candidates final answer must be in a

correct monetary number.
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Question

Expected response

Max

Additional guidance

Partial marking for 1 mark

For correct calculation of toxic dose
= 9.1 g

OR
For calculation of the volume of oil

of wintergreen containing 0-14 g of
methyl salicylate = 0-1 cm3

mark
(@) | (@) [1-575/1-58/1-6(g) 1 Units not required.
0 marks should be awarded for the
correct answer if wrong unit is
given.
(Wrong units would only be
penalised once in any paper).
(ii) | Protein(s) 1
(iii) | pipette and burette 1 Volumetric flask would not be taken
as cancelling.
(b) essential oils 1
(c) | (@) |2-methylbuta-1,3-diene 1
(ii) | ketone 1 accept terpenoids
(d) | () |methanol 1 A correct structure would also be
accepted
H
|
H—C—OH
|
H
(i1) | 79-24/79-2/79 (%) (2 marks) 2 Units not required, but if present,
must be correct. Wrong units are
Partial marking for 1 mark only penalised once per paper.
Theoretical yield = 3117 (g) Rounding of a calculated theoretical
yield to 31 g gives 77-68/79-7/80 (%)
OR which would be accepted.
Allow follow through from incorrect
calculation of theoretical yield.
(iii) | 6-5 (cm?) 2 Units not required.

Only 1 mark can be awarded for the
correct answer if wrong unit is given.
Wrong units would only be penalised
once in any paper.

Allow follow from incorrect first
step of candidate’s calculation.
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Question

Expected response

Max
mark

Additional guidance

10.

Award 1 mark where the candidate
has demonstrated, at an appropriate
level, a limited understanding of the
chemistry involved. They have made
some statement(s) which are
relevant to the situation, showing
that they have understood at least a
little of the chemistry within the
problem.

Award 2 marks where the candidate
has demonstrated, at an appropriate
level, a reasonable understanding of
the chemistry involved. They make
some statement(s) which are
relevant to the situation, showing
that they have understood the
problem.

Award 3 marks where the candidate
has demonstrated, at an appropriate
level, a good understanding of the
chemistry involved. They show a
good comprehension of the
chemistry of the situation and
provide a logically correct answer to
the question posed. This type of
response might include a statement
of the principles involved, a
relationship or an equation, and the
application of these to respond to
the problem. The answer does not
need to be ‘excellent’ or ‘complete’
for the candidate to gain full marks.

Award 0 marks where the candidate
has not demonstrated, at an
appropriate level, an understanding
of the chemistry involved. There is
no evidence that they have
recognised the area of chemistry
involved, or they have not given any
statement of a relevant chemistry
principle. Award this mark also if
the candidate merely restates the
chemistry given in the question.

Zero marks should be awarded if:
The student has demonstrated, at an
appropriate level, no understanding,
of the chemistry involved. There is
no evidence that the student has
recognised the area of chemistry
involved or has given any statement
of a relevant chemistry principle.
This mark would also be given when
the student merely restates the
chemistry given in the question.
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Question

Expected response

Max

Additional guidance

mark
11. | (@) | (i) |Reactants/solvent is flammable/ 1 accept products
catches fire with a flame
(ii) | condenser 1
(b) | (i) [|addition 1
(ii) | 2-methylbutan-2-ol 1
(iii) | A correct structural formula for 1 A mixture of full and shortened

3-methylhexan-3-ol
e.g. a full structural formula or a
shortened structural formula

structural formula is accepted, e.g.
H H CH,

H—C—C—C—OH

H H CH,

CH,

H,C
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Max

Question Expected response mark Additional guidance
12. | (a) Poly(phenylethene) 1
(b) C=0 circled 1 accept ‘C=0 stretch’

2 single absorptions (peaks) required
1 for C-H within the range 2700-3300
cm’ and 1 for C=N within the range
2260-2215 cm™!

increasing
absorption i

3500 3000 2500 2000

wavenumber (cm™)

Ignore the intensity of the
absorptions.

Ignore the width of the absorptions
so long as the peak maximum is
defined and within the given range.

[END OF MARKING INSTRUCTIONS]
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Exemplification of Marking Instructions

Exemplification of Question 2 b

Example 1

558 x100 = 24-3 %

(1596 428)
1 mark
1 mark for correct use of atom economy relationship
Example 2
558 xi00
24236
1 mark
1 mark for correct working shown with no final answer
Example 3
£5.3y L
LN
1ISa-6 + (3%2%)
1 mark

1 mark for correct working with wrong final answer



Exemplification of Question 2 ¢

Example 1

[
Wal
i

+ 258 — 891 =

[

2 marks

Example 2

1 mark
1 mark for evidence of reversing first and second equation

Example 3
—293 -96¢ -39l = - 2031
1 mark
1 mark for evidence of multiplying second equation by 3
Example 4
yg3 + 258 #8911 = 2031
1 mark
1 mark for evidence of multiplying second equation by 3
Example 5
793 + 286 tg8a41 = %60

0 marks
Reversal of first and second equation cancelled by reversal of third equation



Exemplification of Question 4 b

Example 1
0 marks
no top on container, not workable for gas collection
potassum
V\\«ﬁolwﬁde
Soluhion
Example 2
1 mark
/
potassiuM
hy (ox(de
Solution
Example 3
1 mark
Coppel
hot plate
Example 4

i Al
w

lf\eoul—(’ol (/OPpQ/‘



Exemplification of Question 4 ci

Example 1
R N, 0 marks
Statement incorrect
b1 = By

oS —= 1-+4 ¢

heed 0-9 40 30(: 740 NZ on XS
Example 2
DS s Wi
‘ol
N S8R L Eaes
24
Li > Ny o0 Litn ekess
1 mark

1 mark for correct calculation of number of moles of Li and N3

Example 3
A Cj = 0074+ X D/ = OL'_?—
659
Mo Bdl | _paeds
L
L1 04 7 0-033S =g N Ok wgs
1 mark

1 mark for correct calculation of number of moles of Li and N3



Example 4
Lt 0032

AT

No 6-03AS%X¢g = 0:225

0-22S Moles (1 needed
D-I1LS D OPDTF 2 moi*@kuﬁlx\ Lx‘
NL (1 v essS

3 marks

1 mark for correct calculation of number of moles of Li and N>
1 mark for correct use of mole ratio
1 mark for correct statement of excess



Exemplification of Question 4 d ii

Example 1
1 mark
bonds broken At 1 mark for correct retrieval of bond
qus q | enthalpy data and use of this with the
G 12 reaction enthalpy change
QUS =+ 44% —=Ng§ = 9]
N = 4352
Example 2
1 mark
< + — =
Aus b4 NO 1 1 mark for correct retrieval of bond
enthalpy data and use of this with the
NO = 1352 reaction enthalpy change
Example 3
Qs 4+ 198 + 41 = 4534
1 mark

1 mark for correct retrieval of bond enthalpy data and use of this with the reaction
enthalpy change

Example 4

ATERE S S B

1 mark
1 mark for correct retrieval of bond enthalpy data and use of this with the reaction
enthalpy change

a5

(1

Example 5
hond s onken OH 1 mark
G 1 mark for correct calculation with 1
qus | error in the bond enthalpies retrieved
(489 for 498))
[4%9
aus 1 434 — LxNO = Q



Exemplification of Question 5 b ii

Example 1
1 mark
- - e ¥ :
c Sl | % 1R 1 mark for evidence of knowledge that enthalpy of
= 49 -F42 combustion relates to 1 mole
Lq3u2 = '9
= = P 34 g
L4293 L J
Example 2

£ 2 marks
= W : (V-9
E = &8 x 73S 1 mark for demonstration of correct use of En =

= 33580 CMAT
1 mark for evidence of knowledge that enthalpy
of combustion relates to 1 mole

| 9 = 32 S§06

Fg = 340FBALL2

e

Example 3

E = L3 ¥iwil-9 0 marks
= wa3u



Exemplification of Question 6 a

Example 1

0-133 = | kg
Example 2

0-133 = 1000

0-1S = ||?_?-_Ei'
Example 3

0-1%7 = 100 9
0-13 = \\2:}83
Example 4

0:\3%g = 10009

\ 000 M = ISIE g

04%5Mmg = .12 9

1 mark
1 mark for correct calculated mass of iodine

1 mark
1 mark for correct calculated mass of iodine

1 mark
1 mark for correct calculated mass of iodine

1 mark
1 mark for correct unit for incorrectly rounded
calculated mass



Exemplification of Question 6 b i

Example 1

Put beaker on lalance,
press  2e/0, 0dd Seaweod

to Mass reo\w'r\eo{.

1 mark
Example 2
Plae contuumgs on balance
set to 200, add Seawwed.
1 mark
Exemplification of Question 6 b iv
Example 1
(A n= 000026 moles FTao
(8) 000026 x 1269 = 00339

- —

Part A 0 marks
Part B 0 marks Incorrect answer for candidates answer to Part A as incorrect GFM for
jodine used

Example 2
Ay n=20 0001S
(&) O000IE & 12EF S 001654

Part A 1 mark
Part B 0 marks Incorrect GFM for iodine used

Example 3

(AY n= 000026

(B) 000026 % 2638 = 0066 9

Part A 0 marks
Part B 1 mark for follow through from Part A



Example 4

A) 0000 1%

®)

M= 00013 X 253-%
= 0'53.5

Part A 1 mark

Part B 0 marks Incorrect number of moles used

Exemplification of Question 6 ¢

Example 1
By 0 Ho0
( [ | | {
—N —ic — ¢c— N—T—~C——
| [
(Hy H CHz
|
ICHL c3NzHy
S
|
(,H3
Example 2
‘ @)
WL
N—C —C—N—C—C—0H
7 | | |
H CH, H CH,
! l
C[HZ C3N2H3
S
I
(H3
Example 3
Ho0 T’ 0
H | [ I
Mg g i at=g —i6 <O H
/ l [ I
H CHy H  CH3
| [
(:] GNaH3
S
/
CHy

0 marks
End bonds not acceptable for dipeptide

1 marks

Incorrect connection of bonds in side chains not

penalised

0 marks
Number of Hs in side chains incorrect



Example 4

H v} H
u [ | | //O
e € —C—=nN= € —€C__ 0 marks
u l l l i Missing bond in the C=0 in amide link
CHy H f“z
|
CHy CJ,N;_ H3
|
S
[
(Hs
Example 5
l i " 1 mark
W | \Ol ‘l- \ 7
Y Ne=g e N—e =l
/ \ | L
CS S ‘H 2 C QNl ”5
Exemplification of Question 7 c i
Example 1
1 mark
LDFs
1 mark

Qs pefsien
Fove s



Exemplification of Question 7 e ii

Example 1

Mdd Wrﬂd

0 marks
Example 2
™e head 1 polar wnd tne tad 18
Aat soluble.
1 mark
Example 3
The tzl Useowes tn weder and te
head cussolues un oul .
0 marks
Example 4
One port 15 hydm phoboic and ove
povt {¢  LOALC .
1 mark
Exemplification of Question 8 b ii
Example 1
(0n S5 = 229 wmles 1 mark
& = - 1 mark for calculated number of
24 moles x 192 divided by 5
| = 3
e & W
ass = 016X azZ lué‘_(;4 9
NG o



Example 2

5 S y4 24 1 mark
(02 0055 = 0-00 19 noles 1 mark for calculated number of moles x 192
g divided by 5
- po0022q Mol chic atad
X 142
o4 u 5 e g s C -OSS CJ
Example 3
0 marks
9L — 14
O-Uly = 0055
Example 4
=3 24
s i 1 mark
-l — & 08 S 1 mark for calculation without applying mole ratio
5

= 00889

S

Exemplification of Question 8 c iii

Example 1
0009 = %1050 1 mark o
1 mark for calculation with answer not rounded for a
01844 = 01922  monetary unit
01930 = 00

& S
£ 0:00966



Example 2

00D & = £ 1050 1 mark
A T et 1 mark awarded for calculation of £0.1932
0 13ka = 0124 XIDSO . 1a.- asstepin calculation with incorrect final
v — : SEUTT answer
000
T y
100 e = E 01932
L I;m"i- - &£56-00 Q66
Example 3
1 mark
100 cms = o ldlg

Sem' = 0-00919

Example 4

lm}{}j = ¢l1080 1 mark

1 mark awarded for calculation with answer
c-00 "'|.'L35 = £ 000966 not rounded for a monetary unit



Exemplification of Question 9 d ii

Example 1
Ty 1 mark
= I3¥g -2 1524 1 mark for correct theoretical yield
AWdg = 324
‘,':;, = 21%% xwe = 403 dx':;,
LY B
Example 2
1 s 13§ = 5L 2 marks
285 S 22
?fe et ¢ La0 = :I:||:1 ﬂf.-’n
11-1
Example 3
IS | L% =Y 2 marks
y Correct early rounding of theoretical yield
L§3 > By to 31 gives 79.67/79.7/80 %
h 2% v o0 = §09%
31

Exemplification of Question 9 d iii

Example 1

5em° —> + 4

1 mark

Ol € 0lig

Example 2

ngﬂ-“t - q']a 1 mark



Example 3

6S X Oly = -84 1 mark
= 1 mark for follow through from incorrect first step of
Fq9 = 5 cm> calculation
3
} - 84a = § 6 cm
v —
Example 4
3
T e | e 1 mark ' '

J 1 mark for follow through from incorrect first step of

0-lug = 0-12cm X calculation

012w X 65 = 3-8 ™



2021 Higher Chemistry Question Paper breakdown

This document provides the structure of the 2021 questions in Paper 1 and Paper 2 by Key Area; Knowledge/Skill; intended grade A marks.

Paper 1
Question Key Area of Course Question Type Grade A
1 General practical techniques Planning or designing experiments
2 Periodicity Applying knowledge to new situations, interpreting, solving problems
3 Intermolecular forces Applying knowledge to new situations, interpreting, solving problems
4 Oxidising and reducing agents Knowledge and understanding - making statements 1
5 Intermolecular forces Applying knowledge to new situations, interpreting, solving problems
6 Periodicity Applying knowledge to new situations, interpreting, solving problems
/ Systematic carbon chemistry Applying knowledge to new situations, interpreting, solving problems
8 Carboxylic acids Applying knowledge to new situations, interpreting, solving problems
9 Oxidation of food Applying knowledge to new situations, interpreting, solving problems
10 Oxidation of food Applying knowledge to new situations, interpreting, solving problems
11 Carboxylic acids Applying knowledge to new situations, interpreting, solving problems
12 Proteins Knowledge and understanding - making statements
13 Periodicity Applying knowledge to new situations, interpreting, solving problems
14 Oxidation of food Applying knowledge to new situations, interpreting, solving problems
15 Skin care Knowledge and understanding - making statements
16 Collision theory Applying knowledge to new situations, interpreting, solving problems
17 Collision theory Processing information (using calculations and units)
18 Reaction pathways Applying knowledge to new situations, interpreting, solving problems 1
19 Getting the most from reactants Applying knowledge to new situations, interpreting, solving problems
20 Getting the most from reactants Applying knowledge to new situations, interpreting, solving problems 1
21 Equilibria Drawing conclusions and giving explanations 1
22 Volumetric analysis Applying knowledge to new situations, interpreting, solving problems 1
23 Chromatography Drawing conclusions and giving explanations
24 General practical techniques Making predictions and generalisations
25 Equilibria Applying knowledge to new situations, interpreting, solving problems 1




Paper 2

Question Area of Course Question Type Grade A
1(a)(i) Periodicity Knowledge and understanding - making statements
1(a)(ii) Periodicity Applying knowledge to new situations, interpreting, solving problems
1(a)(iii) Periodicity Knowledge and understanding - descriptions and explanations
1(b)(i) Non-specific Selecting information
1(b)(ii) Types of chemical bond Applying knowledge to new situations, interpreting, solving problems
1(b)(iii)(A) | Types of chemical bond Processing information (incl. calculations)
1 b (iii)(B) | Non-specific Processing information (incl. calculations)
1(c) Types of chemical bond Applying knowledge to new situations, interpreting, solving problems
2(a)(i) Periodicity Knowledge and understanding - making statements
2(a)(ii) L%%er?nz{ecchuelglri?zlrcbeznd; Knowledge and understanding - making statements
2(a)(iii) Systematic carbon chemistry Processing information (incl. calculations)
2(b) Getting the most from reactants Applying knowledge to new situations, interpreting, solving problems
2(c) Chemical energy Applying knowledge to new situations, interpreting, solving problems
3 Collision theory Knowledge and understanding - descriptions and explanations 2
4(a) Chemical energy Knowledge and understanding - descriptions and explanations
4(b) General practical techniques Planning or designing experiments 1

4(c)(i)

Getting the most from reactants

Applying knowledge to new situations, interpreting, solving problems

4(c)(ii)

Oxidising and reducing agents

Applying knowledge to new situations, interpreting, solving problems

4(c)(iii)

Types of chemical bonds

Knowledge and understanding - making statements

4(d)(i)

Skin care

Knowledge and understanding - making statements

4(d)(ii)

Chemical energy

Applying knowledge to new situations, interpreting, solving problems

4(d)(iii)(A)

Skin care

Knowledge and understanding - making statements

4(d)(iii)(B)

Non-specific

Processing information (incl. calculations)




4(e)(i) Equilibria Knowledge and understanding - descriptions and explanations
4(e)(ii)(A) | Getting the most from reactants Applying knowledge to new situations, interpreting, solving problems
4(e)(ii)(B) | Reaction pathways Applying knowledge to new situations, interpreting, solving problems

5(a) General practical techniques Suggesting improvements to experimental procedures

5(b)(i) Chemical energy Applying knowledge to new situations, interpreting, solving problems

5(b)(ii) Getting the most from reactants Processing information (incl. calculations)

5(c)(i) Esters, fats and oils Making predictions and generalisations

5(c)(ii) Esters, fats and oils Knowledge and understanding - descriptions and explanations

6(a) Non-specific Processing information (incl. calculations)

6(b)(i) General practical techniques Planning or designing experiments

6(b)(ii) Oxidising and reducing agents Applying knowledge to new situations, interpreting, solving problems

6(b)(iii) General practical techniques Knowledge and understanding - making statements
6(b)(iv)(A) | Getting the most from reactants Applying knowledge to new situations, interpreting, solving problems
6(b)(iv)(B) | Getting the most from reactants Applying knowledge to new situations, interpreting, solving problems

6(c)(i) Proteins Knowledge and understanding - making statements

6(c)(ii) Proteins Applying knowledge to new situations, interpreting, solving problems

7(a) Getting the most from reactants Selecting information

7(b) Chemical energy Knowledge and understanding - descriptions and explanations
7(c)(i) Intermolecular forces Knowledge and understanding - descriptions and explanations
7(c)(ii) Periodicity, Intermolecular forces Knowledge and understanding - descriptions and explanations

7(d) Reaction pathways Knowledge and understanding - making statements

7(e)(i)

Soaps, detergents and emulsions

Knowledge and understanding -

descriptions and explanations

Soaps, detergents and emulsions

Knowledge and understanding -

descriptions and explanations

Esters, fats and oils

Applying knowledge to new situations, interpreting, solving problems

Esters, fats and oils

Knowledge and understanding -

making statements

8(b)(i)

General practical techniques

Applying knowledge to new situations, interpreting, solving problems

8(b)(ii)

Getting the most from reactants

Applying knowledge to new situations, interpreting, solving problems




8(c)(1)(A)

Oxidation of food

Knowledge and understanding - making statements

8(c)(i)(B)

Oxidation of food

Applying knowledge to new situations, interpreting, solving problems

8(c)(ii)

Fragrances

Applying knowledge to new situations, interpreting, solving problems

8(c)(iii)

Non-specific

Processing information (incl. calculations)

9(a)(i)

Non-specific

Knowledge and understanding - making statements

9(a)(ii)

Proteins

Knowledge and understanding - making statements

9(a)(iii)

Common chemical apparatus

Planning or designing experiments

9(b) Fragrances Knowledge and understanding - making statements
9(c)(i) Fragrances Knowledge and understanding - making statements
9(c)(ii) Oxidation of food Applying knowledge to new situations, interpreting, solving problems
9(d)(i) Esters, fats and oils Applying knowledge to new situations, interpreting, solving problems
9(d)(ii) Getting the most from reactants Applying knowledge to new situations, interpreting, solving problems
9(d)(iii) Non-specific Processing information (incl. calculations)
10 Internjo'lecular‘forces; Esters, fats Knowl.edge and understanding - de.scripjcions and‘ explana.tions;
and oils; Proteins Applying knowledge to new situations, interpreting, solving problems
11(a)(i) General practical techniques Applying knowledge to new situations, interpreting, solving problems
11(a)(ii) | Common chemical apparatus Knowledge and understanding - making statements
11(b)(i) | Systematic carbon chemistry Applying knowledge to new situations, interpreting, solving problems
11(b)(ii) | Alcohols Applying knowledge to new situations, interpreting, solving problems
11(b)(iii) | Oxidation of food Processing information (incl. calculations)
12(a) Non-specific Making predictions and generalisations
12(b) Systematic carbon chemistry Processing information (incl. calculations)
12(c) Systematic carbon chemistry Presenting information appropriately in a variety of forms




	mi_NH_Chemistry_Paper-1_2021
	mi_NH_Chemistry_Paper-2_2021
	2020 Exemplification Final
	H Chemistry 2021 QP breakdown


<<
  /ASCII85EncodePages false
  /AllowTransparency false
  /AutoPositionEPSFiles true
  /AutoRotatePages /PageByPage
  /Binding /Left
  /CalGrayProfile (Gray Gamma 2.2)
  /CalRGBProfile (sRGB IEC61966-2.1)
  /CalCMYKProfile (U.S. Web Coated \050SWOP\051 v2)
  /sRGBProfile (sRGB IEC61966-2.1)
  /CannotEmbedFontPolicy /Warning
  /CompatibilityLevel 1.3
  /CompressObjects /Tags
  /CompressPages true
  /ConvertImagesToIndexed true
  /PassThroughJPEGImages true
  /CreateJobTicket false
  /DefaultRenderingIntent /Default
  /DetectBlends false
  /DetectCurves 0.0000
  /ColorConversionStrategy /LeaveColorUnchanged
  /DoThumbnails false
  /EmbedAllFonts true
  /EmbedOpenType false
  /ParseICCProfilesInComments true
  /EmbedJobOptions true
  /DSCReportingLevel 0
  /EmitDSCWarnings false
  /EndPage -1
  /ImageMemory 1048576
  /LockDistillerParams true
  /MaxSubsetPct 100
  /Optimize false
  /OPM 1
  /ParseDSCComments false
  /ParseDSCCommentsForDocInfo true
  /PreserveCopyPage false
  /PreserveDICMYKValues true
  /PreserveEPSInfo true
  /PreserveFlatness false
  /PreserveHalftoneInfo false
  /PreserveOPIComments true
  /PreserveOverprintSettings true
  /StartPage 1
  /SubsetFonts false
  /TransferFunctionInfo /Apply
  /UCRandBGInfo /Preserve
  /UsePrologue false
  /ColorSettingsFile ()
  /AlwaysEmbed [ true
    /3Of9Barcode
    /Goudy
    /Goudy-Bold
    /Goudy-BoldItalic
    /Goudy-Italic
    /Helvetica
    /Helvetica-Bold
    /Helvetica-BoldOblique
  ]
  /NeverEmbed [ true
  ]
  /AntiAliasColorImages false
  /CropColorImages false
  /ColorImageMinResolution 300
  /ColorImageMinResolutionPolicy /OK
  /DownsampleColorImages true
  /ColorImageDownsampleType /Bicubic
  /ColorImageResolution 300
  /ColorImageDepth -1
  /ColorImageMinDownsampleDepth 1
  /ColorImageDownsampleThreshold 1.50000
  /EncodeColorImages true
  /ColorImageFilter /DCTEncode
  /AutoFilterColorImages true
  /ColorImageAutoFilterStrategy /JPEG
  /ColorACSImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /ColorImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /JPEG2000ColorACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /JPEG2000ColorImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /AntiAliasGrayImages false
  /CropGrayImages false
  /GrayImageMinResolution 300
  /GrayImageMinResolutionPolicy /OK
  /DownsampleGrayImages true
  /GrayImageDownsampleType /Bicubic
  /GrayImageResolution 300
  /GrayImageDepth -1
  /GrayImageMinDownsampleDepth 2
  /GrayImageDownsampleThreshold 1.50000
  /EncodeGrayImages true
  /GrayImageFilter /DCTEncode
  /AutoFilterGrayImages true
  /GrayImageAutoFilterStrategy /JPEG
  /GrayACSImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /GrayImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /JPEG2000GrayACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /JPEG2000GrayImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /AntiAliasMonoImages false
  /CropMonoImages false
  /MonoImageMinResolution 1200
  /MonoImageMinResolutionPolicy /OK
  /DownsampleMonoImages true
  /MonoImageDownsampleType /Bicubic
  /MonoImageResolution 1200
  /MonoImageDepth -1
  /MonoImageDownsampleThreshold 1.50000
  /EncodeMonoImages true
  /MonoImageFilter /CCITTFaxEncode
  /MonoImageDict <<
    /K -1
  >>
  /AllowPSXObjects false
  /CheckCompliance [
    /None
  ]
  /PDFX1aCheck false
  /PDFX3Check false
  /PDFXCompliantPDFOnly false
  /PDFXNoTrimBoxError true
  /PDFXTrimBoxToMediaBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXSetBleedBoxToMediaBox true
  /PDFXBleedBoxToTrimBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXOutputIntentProfile (U.S. Web Coated \050SWOP\051 v2)
  /PDFXOutputConditionIdentifier (CGATS TR 001)
  /PDFXOutputCondition ()
  /PDFXRegistryName (http://www.color.org)
  /PDFXTrapped /False

  /CreateJDFFile false
  /Description <<
    /CHS <FEFF4f7f75288fd94e9b8bbe5b9a521b5efa7684002000410064006f006200650020005000440046002065876863900275284e8e9ad88d2891cf76845370524d53705237300260a853ef4ee54f7f75280020004100630072006f0062006100740020548c002000410064006f00620065002000520065006100640065007200200035002e003000204ee553ca66f49ad87248672c676562535f00521b5efa768400200050004400460020658768633002>
    /CHT <FEFF4f7f752890194e9b8a2d7f6e5efa7acb7684002000410064006f006200650020005000440046002065874ef69069752865bc9ad854c18cea76845370524d5370523786557406300260a853ef4ee54f7f75280020004100630072006f0062006100740020548c002000410064006f00620065002000520065006100640065007200200035002e003000204ee553ca66f49ad87248672c4f86958b555f5df25efa7acb76840020005000440046002065874ef63002>
    /DAN <>
    /DEU <>
    /ESP <>
    /FRA <>
    /ITA <>
    /JPN <FEFF9ad854c18cea306a30d730ea30d730ec30b951fa529b7528002000410064006f0062006500200050004400460020658766f8306e4f5c6210306b4f7f75283057307e305930023053306e8a2d5b9a30674f5c62103055308c305f0020005000440046002030d530a130a430eb306f3001004100630072006f0062006100740020304a30883073002000410064006f00620065002000520065006100640065007200200035002e003000204ee5964d3067958b304f30533068304c3067304d307e305930023053306e8a2d5b9a306b306f30d530a930f330c8306e57cb30818fbc307f304c5fc59808306730593002>
    /KOR <FEFFc7740020c124c815c7440020c0acc6a9d558c5ec0020ace0d488c9c80020c2dcd5d80020c778c1c4c5d00020ac00c7a50020c801d569d55c002000410064006f0062006500200050004400460020bb38c11cb97c0020c791c131d569b2c8b2e4002e0020c774b807ac8c0020c791c131b41c00200050004400460020bb38c11cb2940020004100630072006f0062006100740020bc0f002000410064006f00620065002000520065006100640065007200200035002e00300020c774c0c1c5d0c11c0020c5f40020c2180020c788c2b5b2c8b2e4002e>
    /NLD (Gebruik deze instellingen om Adobe PDF-documenten te maken die zijn geoptimaliseerd voor prepress-afdrukken van hoge kwaliteit. De gemaakte PDF-documenten kunnen worden geopend met Acrobat en Adobe Reader 5.0 en hoger.)
    /NOR <>
    /PTB <>
    /SUO <>
    /SVE <>
    /ENU (Use these settings to create Adobe PDF documents best suited for high-quality prepress printing.  Created PDF documents can be opened with Acrobat and Adobe Reader 5.0 and later.)
  >>
  /Namespace [
    (Adobe)
    (Common)
    (1.0)
  ]
  /OtherNamespaces [
    <<
      /AsReaderSpreads false
      /CropImagesToFrames true
      /ErrorControl /WarnAndContinue
      /FlattenerIgnoreSpreadOverrides false
      /IncludeGuidesGrids false
      /IncludeNonPrinting false
      /IncludeSlug false
      /Namespace [
        (Adobe)
        (InDesign)
        (4.0)
      ]
      /OmitPlacedBitmaps false
      /OmitPlacedEPS false
      /OmitPlacedPDF false
      /SimulateOverprint /Legacy
    >>
    <<
      /AddBleedMarks false
      /AddColorBars false
      /AddCropMarks false
      /AddPageInfo false
      /AddRegMarks false
      /BleedOffset [
        0
        0
        0
        0
      ]
      /ConvertColors /NoConversion
      /DestinationProfileName (U.S. Web Coated \(SWOP\) v2)
      /DestinationProfileSelector /UseName
      /Downsample16BitImages true
      /FlattenerPreset <<
        /PresetSelector /MediumResolution
      >>
      /FormElements false
      /GenerateStructure false
      /IncludeBookmarks false
      /IncludeHyperlinks false
      /IncludeInteractive false
      /IncludeLayers false
      /IncludeProfiles true
      /MarksOffset 6
      /MarksWeight 0.250000
      /MultimediaHandling /UseObjectSettings
      /Namespace [
        (Adobe)
        (CreativeSuite)
        (2.0)
      ]
      /PDFXOutputIntentProfileSelector /UseName
      /PageMarksFile /RomanDefault
      /PreserveEditing true
      /UntaggedCMYKHandling /LeaveUntagged
      /UntaggedRGBHandling /LeaveUntagged
      /UseDocumentBleed false
    >>
    <<
      /AllowImageBreaks true
      /AllowTableBreaks true
      /ExpandPage false
      /HonorBaseURL true
      /HonorRolloverEffect false
      /IgnoreHTMLPageBreaks false
      /IncludeHeaderFooter false
      /MarginOffset [
        0
        0
        0
        0
      ]
      /MetadataAuthor ()
      /MetadataKeywords ()
      /MetadataSubject ()
      /MetadataTitle ()
      /MetricPageSize [
        0
        0
      ]
      /MetricUnit /inch
      /MobileCompatible 0
      /Namespace [
        (Adobe)
        (GoLive)
        (8.0)
      ]
      /OpenZoomToHTMLFontSize false
      /PageOrientation /Portrait
      /RemoveBackground false
      /ShrinkContent true
      /TreatColorsAs /MainMonitorColors
      /UseEmbeddedProfiles false
      /UseHTMLTitleAsMetadata true
    >>
  ]
>> setdistillerparams
<<
  /HWResolution [2400 2400]
  /PageSize [595.276 841.890]
>> setpagedevice


